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rAESEEtAREICE TOMAHRE R ERER

FEE: : 227-26

BF24EE
B B - iR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
O tth e Ep — 0.05 — PA-1000
1/6 OK) BN @I RYEEO — 0.05 — PA-1000
@RFL T AR — 0.06 — PA-1000
O tth e Ep — 0.04 — PA-1000
7/1(K) Y QFRYEKO — 0.06 — PA-1000
@RFUL T HEMR — 0.04 — PA-1000
ERE31 4
EE X 154 5 PN o B ) I .
5cm 50c¢m 100c¢m
Dghth il & — 0.04 — PA-1000
12/8(K) £Y QFRY&EKO — 0.05 — PA-1000
@RFYL T AR — 0.05 — PA-1000
Dgth il & — 0.04 — PA-1000
1772(R)EY QFRYEKO — 0.06 — PA-1000
@RFYL T AR — 0.05 — PA-1000
2/9 (£10)



rAESEEtAREICE TOMAHRE R ERER

FEE: : 227-26

R 30LERE
e s BEME (XA 70—~ LMNMEE) e
BIE B - X% I TE Hh 2 Som Py 000 BIES e
O tth e Ep — 0.05 — PA-1000
1/71(R) BN @I RYEEO — 0.06 — PA-1000
@RFL T AR — 0.06 — PA-1000
O tth e Ep — 0.05 — PA-1000
7/4(K)EN Q¥ RYERERD — 0.05 — PA-1000
@RFUL T HEMR — 0.07 — PA-1000
TR0
B B - 0R 55 45 b L W12 P e B .
5cm 50c¢m 100cm
gt ohtER — 0.05 — PA-1000
1/4(K)BEh @I RNYEEO — 0.06 — PA-1000
@RF T AR — 0.06 — PA-1000
gt ohtER — 0.04 — PA-1000
7/5(K) £Y QFRYEKEO — 0.07 — PA-1000
@RF T AR — 0.07 — PA-1000
3/9 (E10)
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R 284ERE
BI%E B - K IR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
O tth e Ep — 0.05 — PA-1000
1/6(£)BEh @I RYEEO — 0.06 — PA-1000
@RFL T AR — 0.07 — PA-1000
O tth e Ep — 0.05 — PA-1000
17/4(B)EN Q¥ RYERERD — 0.07 — PA-1000
@RFUL T HEMR — 0.08 — PA-1000
FRE27EERE
A A KR A el L AEs s
5cm 50c¢m 100c¢m
~ O ELEETY: — 0.09 — PA-1000
1/45&2)8%) @F~Y&sEO — 0.07 — PA-1000
@RFYL T AR — 0.07 — PA-1000
Dgth il & — 0.07 — PA-1000
7/8(K)EY QFRYEKO — 0.08 — PA-1000
@RFYL T AR — 0.08 — PA-1000
4/9 (£10)
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TR 264EFE
e e BIEME (R IO —~ LB —
HI%E B - Rz I #h R Som 7500m ??O)cm BIE R e
O tth e Ep — 0.09 — PA-1000
1/7 OK) BN @I RYEEO — 0.10 — PA-1000
@RFL T AR — 0.12 — PA-1000
O tth e Ep — 0.08 — PA-1000
10/2(K)EY QFRYEKO — 0.07 — PA-1000
@RI Rtk — 0.10 — PA-1000
Dgth &R — 0.08 — PA-1000
7/2(K)EN @FRY&KEO — 0.10 — PA-1000
@RI Rtk — 0.10 — PA-1000
Dgth &R — 0.08 — PA-1000
4/10(K)EAL QFRY&EKO — 0.10 — PA-1000
@RFYL T AR — 0.10 — PA-1000
5/9 (E10)
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TR254EE
AER KR At AE@ATE — R EBR) AT iz
5cm 50c¢m 100cm
) OEith Rl & — 0.10 — PA-1000
26 QFRYERO — 0.11 — PA-1000
2/6(K) Hn =
QRTY 5B A — 0.10 — PA-1000
Okt il ED — 0.09 — PA-1000
1274(k) £Y QFRYAKEO — 0.10 — PA-1000
Q@RI Btk — 0.10 — PA-1000
gt o ER — 0.09 — PA-1000
10-7(R) Bh Q@3 RY&EEDO — 0.10 — PA-1000
@RT T HEMHE — 0.10 — PA-1000
Oghith il ED — 0.10 — PA-1000
QFRYERED — 0.11 — PA-1000
8./6(k) £Y @RFU T #EFHE — 0.11 — PA-1000
ANF — 0.10 — PA-1000 BEREBE (RPEETFIED AT EIEH B BB AF)
BNF — 0.09 — PA-1000 ”
gt &R — 0.10 — PA-1000
6./50K) Bh Q@3 RY&EED — 0.11 — PA-1000
@RTY 5 EftHA — 0.12 — PA-1000
OFtth & — 0.11 — PA-1000
416 (K) Eh @3 RY&EED — 0.10 — PA-1000
@RT) B fHA — 0.12 — PA-1000
6/9 (Z10)
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P EEM: : 22726

FRR24 4/
AEE - X AEA ARREATEY BT ] pes %
5cm 50c¢m 100cm
O tth e Ep — 0.12 — PA-1000
3/5(K) BEh @I NY&EEO — 0.12 — PA-1000
@RI Rtk — 0.12 — PA-1000
OBuith sl Ep — 0.12 — PA-1000
27500 BN @I RYEEO — 0.12 — PA-1000
QRT T AR — 0.13 — PA-1000
) OFith & — 0.12 — PA-1000
F k255 TN
1L/8(k) Bh @F~RY&KEO — 0. 11 — PA-1000
@RI Rk — 0.13 — PA-1000
OBt sl Ep — 0.12 — PA-1000
12740K) £Y QFRYEKO — 0. 11 — PA-1000
®RT T HEMHE — 0.13 — PA-1000
OBt & — 0.12 — PA-1000
1M1/70k) & @I RNYEEO — 0. 09 — PA-1000
@RT T AR — 0.13 — PA-1000
DBt sl E — 0.13 — PA-1000
1073(K) ™ QFRY&EKO — 0.12 — PA-1000
®RT T HEMHE — 0.13 — PA-1000
7/9 (Z10)
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P EEM: : 22726

FRR24 4/
AEE - X AEA ARREATEY BT ] pes %
5cm 50c¢m 100cm

O tth e Ep — 0.12 — PA-1000

9/5(K) BEh @I NY&EEO — 0.10 — PA-1000
@RI Rtk — 0.12 — PA-1000

OBuith sl Ep — 0.14 — PA-1000

8.72(K) HEN @I RYEEO — 0.14 — PA-1000
QRT T AR — 0. 14 — PA-1000

OFith & — 0.13 — PA-1000

7.73(K) EBh @I NY&EO — 0.15 — PA-1000
@RT T HEMHE — 0.14 — PA-1000

OBt sl Ep — 0.15 — PA-1000

678(&) BENh QFRYEKO — 0. 15 — PA-1000
®RT T HEMHE — 0.15 — PA-1000

OBt & — 0.15 — PA-1000

5/78(K) HEh @I RNYEEO —_ 0. 14 —_ PA-1000
@RT T AR — 0.16 — PA-1000

DBt sl E — 0.15 — PA-1000

412(K) Bh @3 RYLEKEAO — 0.17 — PA-1000
®RT T HEMHE — 0.17 — PA-1000

8/9 (Z10)
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TR 234
N S BEME (Ao —N)LERF) —
BIE B - Xix B 5E #b R P o o BIE 2 S
3/7 k) ZY Ot el E — 0.16 — PA-1000
OEith Rl & — 0.16 0.15 PA-1000
2/2(K) Bh @3 RY&EED — 0.16 — PA-1000
®RT T AR — 0.18 — PA-1000
) Okt il ED — 0.16 0. 15 PA-1000
TR QFRYERED — 0.16 — PA-1000
1.712(K) BEh =
QRT) Y Btk — 0.18 — PA-1000
gt o ER — 0.16 0.15 PA-1000
12712(R) Bh Q@3 RY&EEDO — 0.17 — PA-1000
@RTY 5B ftHA — 0.17 — PA-1000
Bt Al BB (2 R NERER) — 0. 18 0. 15 PA-1000
11/170K) Bh BYBT — 0. 22 — PA-1000
Bith il BB (2 R NERAE) — 0.17 0. 15 PA-1000
Bith il ER (2 R NEREE) — 0.17 0. 16 PA-1000
10-24(R) £Y Sk — 0.17 — PA-1000
FE A A — 0.18 — PA-1000
TER234 oKt — 0.18 — PA-1000
9./22(K) &Y 1A _ 0.18 — PA-1000

9/9 (E10)



